AP Statistics, Chapter 7.1 & 7.2        

       
       Name__________________________  
Practice Quiz 


      
          

Suppose you have a population in which 60% of the people approve of gambling.

1. 
Is the value 0.60 a parameter or a statistic? Give appropriate notation for this value.

You want to take many samples of size 10 from this population to observe how the sample proportion who approve of gambling varies in repeated samples.

2. 
Describe the design of a simulation using the partial random digits table below to estimate the sample proportion who approve of gambling.  Then carry out five trials of your simulation.

3  6  0  0  9
1  9  3  6  5
1  5  4  1  2
3  9  6  3  8
8  5  4  5  3
4  6  8  1  6

3  8  4  4  8
4  8  7  8  9
1  8  3  3  8
2  4  6  9  7
3  9  3  6  4
4  2  0  0  6

8  2  7  3  9
5  7  8  9  0
2  0  8  0  7
4  7  5  1  1  
8  1  6  7  6
5  5  3  0  0

6  0  9  4  0 
7  2  0  2  4
1  7  8  6  8 
2  4  9  4  3
6  1  7  9  0
9  0  6  5  6


6  8  4  1  7
3  5  0  1  3
1  5  5  2  9
7  2  7  6  5
8  5  0  8  9
5  7  0  6  7

3. 
The sampling distribution of 
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 is the distribution of 
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 from all possible SRSs of size 10 from this population.  What is the mean of this distribution?

4. 
If you used samples of size 20 instead of size 10, which sampling distribution would give you a better estimate of the true proportion of people who approve of gambling?  Explain your answer.
5.   Choose an SRS of size n from a large population with population proportion p having some 
characteristic of interest.  Let 
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 be the proportion of the sample having that characteristic.  

· What is the mean of the sampling distribution?

· What is the standard deviation of the sampling distribution?

· Under what conditions will the formula for the standard deviation of 
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 be reasonably accurate?
· The sampling distribution of 
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 is approximately Normal when the sample size n is “large.”  What conditions need to be met in order to use the Normal approximation to the sampling distribution of 
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?
6.  According to government data, 22% of American children under the age of 6 live in households with incomes less than the official poverty level.  A study of learning in early childhood chooses an SRS of 300 children.  What is the probability that more than 20% of the sample are from poverty households?  (Remember to check that you can use the Normal approximation.)

7.  The weights of newborn children in the United States vary according to the Normal distribution with mean

      7.5 pounds and standard deviation 1.25 pounds.  The government classifies a newborn as having low birth 

      weight if the weight is less than 5.5 pounds.

a) What is the probability that a baby chosen at random weighs less than 5.5 pounds at birth?

You choose three babies at random and compute their mean weight, 
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.

b) What are the mean and standard deviation of the sampling distribution of the mean weight 
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 of the three babies?

c) What is the probability that their average birth weight is less than 5.5 pounds?
d) Would your answers to a), b), or c) be affected if the distribution of birth weights in the population were distinctly non-Normal?
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